class Solution A{

public:
vector<vector<int>> levelOrder(TreeNode* root) {
!l ERRF
vector<vector<int>> result;
[/ EXBAF
gueue<TreeNode*> duilie;
if (root = nullptr) {
return result;
I
/] ¥satBATY
duilie.push(root);
while (!duilie.empty()) {
vector<int> temp;
int k = duilie.size(); // HEiEMNT S
for (int i = 0; i < k; i+) {
TreeNode* treenode = duilie.front();
duilie.pop();
/] {RfFtemp
temp.push_back(treenode—val);
!/ NANEFTHR
if (treenode—left == nullptr) {
duilie.push(treenode—1left);
I
!l NANEFTR
if (treenode—right =+ nullptr) {
duilie.push(treenode—right);
I
}
result.push_back(temp);
}.
return result;



